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形成洋流的2个最重要原因是不同海域存在温度差和盐度差。由于广大海域的海水温度不同或含盐量不同，形成海水的巨大对流。
[image: ]海洋中的巨大洋流，相当于海洋能量和营养物质的大输送带，也是海洋能量、物质的大交换。如果海洋温度、含盐度一致，海水就不再对流了，洋流就会消失，能量、物质就无法输送和交换，海洋生物将因缺乏营养物质和氧气而死亡，有些海域可能因富营养化，使有害生物大量繁殖而死亡污染，最终整个海洋将死亡。




水汽遇冷才能凝结成小水珠形成“哈气”，司机都是从阻止小水滴形成方面入手的。在冬季，司机用暖风提高前挡风玻璃的温度，使水汽不能在挡风玻璃上液化而形成“哈气”；夏季下大雨时，车外温度较低，挡风玻璃的温度也较低，而车内温度高，这时车内的水汽容易在挡风玻璃上液化，此时打开空调制冷，可以让车内的温度低于挡风玻璃的温度，这样就不会产生“哈气”了。
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1.可以从数学角度出发，研究概率问题；2.可以根据实验对象的不同，研究男人和女人、成年人和未成年人的行为习惯问题；3.可以分析赢家为什么习惯于保持现状、输家为什么倾向于做出改变的心理学问题；4.可以研究人们对于“改变自己习惯”的认同程度和时间上，是否受到年龄、性别、受教育程度的影响；5.可以进行大脑反应速度和出手速度方面的研究；6.选取总是输或总是赢的人，可以进行压力如何影响成绩方面的研究；7.通过核磁共振等高科技手段，进行大脑响应输赢区域的成像研究，进而研究相关方面的脑科学。
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证明流体内部对周围各个方向都有压力的实验很多，这里仅举一例供参考。
1. 实验器材：①一大桶水；②一个适当口径的玻璃杯（或试管）；③一个很薄的气球膜（或塑料薄膜）；④一小段细绳。
2. 实验步骤：①将气球膜蒙在玻璃杯口，用细绳扎紧；②将杯子没入尽可能深的水中；③在不同的水深处转动杯子，使杯口朝向不同方向，观察杯口薄膜变化。
3. 观察结果：①在任何方向上，薄膜都会向杯口里凹陷；②薄膜的凹陷程度，随水深而增大。薄膜向杯口里凹陷是水的压力引起的，说明水在各个方向都存在压力，而且压力随水深而增加。
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People often said Thomas Edison was the greatest genius (X 4) of his age. There
are only a few men in al of history, who have changed the lives of other men as much
as the inventor of the first useful electric light. But Edison coud never be pleased only
because someone said he was a genius. "There is no such a thing as genius," Edison
said. He thought what people called genius was mostly hard work.

But Edison was a thinker as wel as a worker. From his earliest days as a chid he
wondered about the secrets of nature. He tried to understand them, and then he tried
to learn what he could usefuly do with them.

Edison enjoyed thinking. He knew that most people would do almost anything in—
stead of the difficult work of thinking. But he knew, too, that thinking could give men
enjoyment and pleasure.

Edison could not understand why anyone could not be interested in life. As he
oved to think, he also loved to work. On the day he became 75 years old, someone
asked him what idea he had apout life. "Work," he answered, "Discovering the secrets
of nature and using them to make men happier." He said he had enough inventions in his
mind to give him another 100 years of work.

1. ( ) What is genius according to Thomas Edison?

A. Hard thinking. B. Hard work. C. Usefu ideas. D. Usefu inventions.
2. ( ) How did Edison aways deal with the secrets of nature after exploring them?

A. To write down what he had learned.
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A
B
C

. To write down what he had learned.

. To carry out a new experiment.

. To make them useful in life. D. To share them with others.

) What could not Edison understand?

A.
B.
C.
D.

He couldn’ t understand how anybody enjoyed life.

He couldn’ t understand if anybody loved working.

He couldn’ t understand why anybody loved thinking.
He couldn’ t understand why anybody was tired of life.

Was Edison a good thinker or a good worker?

A
B
C
D

. He was a good thinker.

. He was either a good worker or a good thinker.

. He was a good thinker and he was a good worker, too.
. He was neither a good thinker nor a good worker.

What does the last sentence in the passage mean?

A

B.

C
D

. Edison was born to be a great inventor.

Edison was able to live another 100 years.

. Edison was ready to make his 100th invention.

. Life was too short for Edison to work for human beings.
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